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Algebra I - Unit 1: Topic 2 - Literal Equations

Practice - Literal Equations pp 107-108
Name Date Per

1. The formula F = m » acan be used to find the force, £, of an object when given it's mass, m, and it's acceleration,
4. Solve this formula for an object's mass.

2. The formula for the circumference of a circle is € =27 . Solve the formula for r.

3. For altitudes up to 36,000 feet, the relationship between temperature and altitude can be described by the
formula £ =-0.0035a + g . Solve this formula for a.

4. The formula ¢ =5p + 215 relates ¢, the total cost in dollars of hosting a birthday party at Pizza Palace, to p, the
number of people attending.

A. Solve the formula for p.

B. If Allies parents are willing to spend $300 for a party, how many people can attend?

Solve the following: - q‘ C P
5. ax+r=7 forr 6. 5p+9c = pfor ¢ - “’5P

7 a;éb: cfor a
2
»ly ¥
Lo T3k
9. Which of the following

a =6 =D
Add 56 to both sides, then divide both sides by 2 -—Q ‘2@*‘

Subtract 56 from both sides, then divide both sides by 2
Divide both sides by 5, then add 2a to both sides - 9\0 i \D "2 Q
Subtract 2a from both sides, then divide both sides by -5. _/-—5— ——fé—

10. The density of an object can be calculated using the formula & = ’;", where mis the mass of the object and Vis

orfect method for solving 2a — 56 = 10 for #?

ODOW)“

the volume of the object.
Ved=

' = = —

A. Solve the formula for V.

B. If an object has a mass of 30 granis and\a densTﬁ 2.5i3 , what is the volume of t@bbject?
cm
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Foundations of Algebra Test Name
Algebra 1 Unit 1 T1-T2 Review

5. Write an expression equivalent to the product of

_p 1 five and a numbered squared.
1. Evaluate ba-b for a= S b=-1,and c=8 s
c &
‘ -
— ==

. Shannon has spent $850 on gasoline and repairs
for her car in the last 6 months. Of this total,
she spent $300 on repairs. The gasoline she
purchased cost $1.29 per gallon. Which of the
following can be used to determine how many
gallons of gas, g, Shannon has bought within the
last 6 months?

® 8

2. Simplify the algebraic expression
3x—-1)-4(2x +2)

oGP

A llx-7 A 1.29g - 300 =850

2 ;5"*111 B 1.29¢ +300 =850
X+

oo C 1.29-300g =850

D 1.29+300g =850

3. Find the perimeter, in simplified form, in terms of
X
7. Jeff receives 7% commission for every home he
2x sells. If he received $9800 in commission for the
B last home he sold, what was the selling price of
x -3
that home?
2x% —5x+1 3x+4

8. What equation do the following algebra tiles

represent?
mlm) —
=x
4, Which situation is best represented by the [
algebraic expression 63+ 32x ? [ O 0O -
0 =1
A Susie owes money to her parents. She initially m O O
gave them $65 and has agreed to pay $32 a ] 00 -
month until she has paid them completely.
B Paula needs an electrician to fix her outlet.
The electrician charges $32 to come to her
house and an additional $65 per hour. 9. Draw the solution of the equation in #8 using
algebra tiles.

C Lisa has $65 in her checking account and
spends thirty-two dollars a week.

lw)

The set up fee for making T-shirts is $32. The
cost of each shirt is $65.

_ X + HB3x[9 =130
SXH S=\g0
A »\,**\6

—

<




13 Review 1.notebook September 11, 2014

10. The measure of an angle is 75 more than its 14, Solve the equation -3(5+2a) + 4 =5a for a.
supplement. Find the measure of each angle.

15. Solve the equation %k -5=10for k&

5 45
L{,%K~f\ 6%

92 11. Kenny's scores on his last 5 math tests are 85, . ka
? \* 92, 81, 92, and 80. What is the score he must Solve the following equations: - \ - =
get on the next test if he wants his average to be 2 A
exactly 86? 16. -3(x — 2) = -6 K =90

%SSH'L"?L"’“W Bl

Ve
D 17 2x-8)+3217

(x+5)°. Find the measure of ea

18. Solve the following equation for y:
2x -3y =9

13. Diego solved the following equation using the
steps shown below.

19. The formula for the circumference of a circle is

Stepl 3x+6=x+18 C =2xr . Solve the formula for .

Step2 2x+6=18
Step3 2x =12
Step4 x=6

What operation did he perform to get from
Step 1 to Step 27

A Added xto both sides of the equation

B Divided both sides of the equation by 2

C Multiplied both sides of the equation by 2

D Subtracted xfrom both sides of the equation

1
20.Solve @ = 3 gfz for g



13 Review 1.notebook September 11, 2014
bt
JE

TSt 1E YOU haAVe 1aST MinUte QUESTIONS 1 Will b& neEe
At 8 30AM T0MOZZOW. SOIUTIONS Will b& POSted OUtSIdt
MY dOOE DY 4:10PM, 0N TWIttGEZ, and on my WepSitt.

emSkmath - httP//WWWMSEMAthehS WeLPLY ComM

| Will AISO P& CheCk-iNG NOtOPOOKS tOMOZZO0W. When YOU COMe iNt0 the
200N, tURN I YOUR 2oVIEW And hW 1.3 10 YOUZ CIASS TEAY and theh
TURN YOUR NOTBPOOK In t0 YOUR CIASS bih (Znd - bIve, 3kd - GReeh, 4th -
0LANGE, Sth - PINK) At the FRONT OF the 0oM. anY nottpooksS Not in
tht pin Wheh | Staet Geading Will be ConSiaektd 1t

H‘
P

a e A - - h a e — N - e —— h - pe_—— -

/



13 Review 1.notebook September 11, 2014



	Page 1: Sep 10-4:11 PM
	Page 2: Sep 10-4:11 PM
	Page 3
	Page 4: Sep 10-4:11 PM
	Page 5
	Page 6
	Page 7: Sep 10-4:11 PM
	Page 8: Sep 10-5:06 PM

